RAM® Square Post Clamp Base Assembly Guide (Side A)

PARTS INDEX:

A. RAM® Double Suction Offset Plate (QTY. 1)

B. Knob & Swivel Assembly (QTY. 2) g g ? g
C. RAM® Twist-Lock Suction Cup (QTY. 2) /N

D. #10 X 3/4” Sheet Metal Screw (QTY. 4)

E. #8-32 X 2" Machine Screw (QTY. 6) ? ? ? ? ? ?
F. #8-32 Nylock Nut (QTY. 4) iy A F G

G. #8-32 Thin Nylock Nut (QTY. 2) N

P88® °°

1. Disassemble one (B) Knob & Swivel 2. Attach Bottom piece from (B) 3. Attach Top piece and Ball Socket from (B) Knob & Swivel

Assembly as shown.

Knob & Swivel Assembly to (C) Assembly to one side of (A) Offset Plate using two (E) Screws
Suction Cup using (D) Screws. and (F) Nuts.

KNOB

TOP PIECE

y| BOTTOM PIECE

RMR-INS-189-PIV1

This document, including images, may not be reproduced partly or fully without the expressed written consent of National Products, Inc.

RAM® Square Post Clamp Base Assembly Guide (Side A)

PARTS INDEX:

A. RAM® Double Suction Offset Plate (QTY. 1)

B. Knob & Swivel Assembly (QTY. 2) g g E g
C. RAM® Twist-Lock Suction Cup (QTY. 2) /N

D. #10 X 3/4” Sheet Metal Screw (QTY. 4)

E. #8-32 X %" Machine Screw (QTY. 6) ? ? ? ? ? ?
F. #8-32 Nylock Nut (QTY. 4) iy A F G

G. #8-32 Thin Nylock Nut (QTY. 2) ’N

2889 e

1. Disassemble one (B) Knob & Swivel 2. Attach Bottom piece from (B) 3. Attach Top piece and Ball Socket from (B) Knob & Swivel

Assembly as shown.

Knob & Swivel Assembly to (C) Assembly to one side of (A) Offset Plate using two (E) Screws
Suction Cup using (D) Screws. and (F) Nuts.

KNOB

TOP PIECE

RMR-INS-189-PIV1

This document, including images, may not be reproduced partly or fully without the expressed written consent of National Products, Inc.



RAM® Square Post Clamp Base Assembly Guide (Side B)

4. Reassemble (B) Swivel Assembly with (C) Suction Cup 5. Repeat Steps 1 through 4 for Second Swivel
and (A) Offset Plate. Assembly and opposite side of (A) Offset Plate.

6. Use remaining (E) Screws and (G) Nuts to attach
RAM® Ball and Socket Mount to center of (A)
Offset Plate. Ball base not included in all kits.

RAM Mounting Systems
8410 Dallas Ave S
Seattle, WA 98108
Phone: (206) 763-8361
Fax: (206) 763-9615
www.rammount.com
support@rammount.com

MOUNTS

RMR-INS-189-PIV1

This document, including images, may not be reproduced partly or fully without the expressed written consent of National Products, Inc.

RAM® Square Post Clamp Base Assembly Guide (Side B)

|
4. Reassemble (B) Swivel Assembly with (C) Suction Cup 5. Repeat Steps 1 through 4 for Second Swivel
and (A) Offset Plate. Assembly and opposite side of (A) Offset Plate.

6. Use remaining (E) Screws and (G) Nuts to attach
RAM® Ball and Socket Mount to center of (A)
Offset Plate. Ball base not included in all kits.

RAM Mounting Systems
8410 Dallas Ave S
Seattle, WA 98108
Phone: (206) 763-8361
Fax: (206) 763-9615
www.rammount.com
support@rammount.com

MOUNTS

RMR-INS-189-PIV1

This document, including images, may not be reproduced partly or fully without the expressed written consent of National Products, Inc.



	Page 1
	Page 2

